Name ______________________________________ Date_____________________ Period_______
Solving Equations WKS 4
Find the solution to each of the following. Show work and properties.
1) 14 – (2x + 5) = -2x + 9					2) 6x + 1 = 6x – 8




3) -8x + 14 = -2(4x – 7) 					4) y – 5 = -(5 -  y) 




5) a – 4a = 2a + 1 – 5a						6) 9x + 3x – 10 = 3(3x + x) 





7) 18x – 5 = 3(6x – 2) 						8) 9 + 5a = 2a + 9




9) 3(x – 4) = 3x – 12						10) 6x = 4(x + 5) 
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11) 	[image: ]						12) 0 = 0.98b + 0.02b – b





13) 5m – 2(m+2) = -(2m + 15) 					14) [image: ]
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Algebra Worksheet #87 Chapter 2: Equations with No Solution or All Real Numbers
Solve each equation. The solution will either be a number, NO solution, or ALL REAL NUMBERS.

1) 14-(@2x+5)=-2x+9 8 9+5a=2a+9

2) 6x+1=6x-8 9 3x-4=3x-12

3) —8x+14=-2(4x—7) 10) 6x=4(x+5)

3, 1

4 y-5=—(5-y) 1) Ze-gle=k+1

5) a-4a=2a+1-5a 12) 0=098b+0.02b—b

6) 9x+3x—10 =3(3x+x) 13) 5m—2(m+2) = —(2m + 15)

7) 18x—5=3(6x—2) tw+iw





